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Heaven

In Cascade Lana Bambu

Designed by Angela Juergens for Cascade Yarns

Knit in Cascade Lana Bambu #7 (5-7 Skeins)




CASCADE “HEAVEN” SIZES S (M, L, XL)

Directions are for a size S. Changes for sizes M, L and XL are in parentheses.

Skill level: Experienced

Gently fitted silhouette and belled sleeves

Finished sizes: 33”(387/43”/48”) bust circumference,

Sleeve length 25” (adjustable), length from shoulder to bottom 27.5”

e Garter stitch selvedges are worked throughout garment, knit the first and
last stitch on all rows unless indicated differently

e Alternate working two rows with one skein and two rows with another to
disguise any color differences between skeins.

¢ Row counts are given throughout the instructions because the neckband
is a continuous of the front and back.

¢ Model shown is a size 38”

Skills: k2tog, ssk, slip stitches, yarn over (yo), backward loop, bind off,

psso = pass slipped stitch over
sl1= slip one stitch (pick up the stitch as if to knit and slide it over to the right
hand needle)
sl2 = slip 2 stitches together (pick up both stitches together as if to knit and slide
them over to the right hand needle)
ssk = 1) slip 2 stitches separately to right hand needle as if to knit.

2) slip left needle into these 2 stitches from left to right and knit them

together: 2 stitches became 1.

Backward loop:



Materials: 5(5/6/7) skeins Cascade “Lana Bambu”, knitting needles sizes US 8 (5 mm),
US 10 (6 mm), US 10.5 (6,5 mm), tapestry needle, stitch markers

Gauge: over lace pattern US 10.5: 13 sts/22 rows = 47/4”
US 10: 15 sts/22 rows = 47/4”
US 8: 15 sts/25 rows = 47/4” all measured after
ironing
There is no stockinette stitch pattern in this garment but you can still compare your
stitches with this gauge: 17 sts/24 rows = 47/4” in stockinette stitch, needle size US 10
after ironing

If necessary change needle size to obtain correct gauge

Stitch pattern: the pattern is a repeat of 10 stitches and 16 rows.

The graph shows the right side rows (odd numbers) and the wrong side rows (even
numbers). Wrong side rows are worked as stitches appear (purl stitch = purl the stitch,
knit stitch= knit the stitch, yarn overs = purl).

You read it from right to left (odd numbers) and from left to right (even numbers)

For better visibility the stitches of the wrong side rows are not marked as knit or purl
stitches.
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BACK AND FRONT:

Cast on 65(75/85/95) sts with needle size 10.5.
S/M/L/XL
Knit one row.

Start lace pattern.

Row 1: k1*p3, k1, yo, k1, sl 2, k1, pass the 2 slipped stitches over the one knitted stitch,
k1, yo, k1*repeat from * to * 5(6/7/8) more times, ending with p3, k1.

Row 2: k1 *k3, p7* repeat from *to* 5(6/7/8) more times, ending with k4.

Row 3: as row 1

Row 4: as row 2

Row 5: as row 1

Row 6: as row 2

Row 7: as row 1

Row 8: as row 2

Row 9: k2, ssk, *k1, yo, k1, p3, k1, yo, k1, sl 2, k1, pass the 2 slipped stitches over the
one knitted stitch * repeat from *to* 4(5/6/7) more times, ending with k1, yo, k1, p3, k1,
yo, k1, k2tog, k2

Row 10: k1, p5, k3 *p7, k3* repeat from *to* 4(5/6/7) more times, ending with p5, k1
Row 11: as row 9

Row 12: as row 10

Row 13: as row 9

Row 14: as row 10

Row 15: as row 9

Row 16: as row 10

Repeat pattern row 1-16 all together two times and then row 1-8 one time = 40 rows
Change to needle size US 10

Work pattern row 9-16 one time and then pattern row 1 — 16 two times and then
pattern row 1 — 8 one time = 48 rows in pattern with needle size US 10 (but actually 88

rows from beginning)
Change to needle size US 8

Continue according size.



For size S:  follow graph. The right side facing place a marker after the first 16
stitches of the row (work as beginning) and before the last 9 stitches of the row (work as
end). The stitches in between the markers are repeats.

Work row 9-16 one time (graph starts with row 9) and then row 1-16 one
time, then row 1-2

Now shape armhole. For lace pattern changes follow the graph with row 3
Bind off 3 sts at the beg of next two rows. (=row 3 and 4)

Bind off 2 sts at the beg of next two rows (row 5 and 6)

Bind off 1 sts at the beg of next two rows (row 7and 8)

= 53 sts

Work row 9-16 and then row 1- 16 two times.

Shoulder shaping: Continuing with row 1-16 from last repeat bind off 10
stitches at the beginning of next two rows (=row 1 and 2) = 33 stitches.
Then knit the first two stitches together at the beginning of next two rows
(= row 3 and 4) = 31 sts. Change to needle size US 10 and work row 5-16
Then in the following right side row bind off purlwise VERY loosely.

The top of the neck should measure about 13” when stretched
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For size M:

follow graph. The right side facing place a marker after the first 16

stitches of the row (work as beginning) and before the last 19 stitches of the row (work
as end). The stitches in between the markers are repeats.

Work row 9-16 one time (graph starts here) and then row 1 - 16 .

Now shape armhole. For lace pattern changes follow the graph.

Bind off 4 sts at the beg of next two rows. (= row 1 and 2)

Then bind off 3 sts at the beg of next two rows (row 3 and 4)

Then bind off 2 sts at the beg of next two rows (row 5 and 6)

Then bind off 1 st at the beg of next two rows (row 7 and 8)

= 55 sts

Then work row 9 — 16 one time and then row 1 — 16 two times.
Shoulder shaping: Continuing with row 1-16 from last repeat bind off 10
stitches at the beg of next two rows (= row 1 and 2) = 35 stitches. Then
knit the first two stitches together at the beg of next two rows (= row 3
and 4)= 33 sts. Change to needle size US 10 and work row 5 -16.
Then in the following right side row bind off purlwise VERY loosely.
The top of the neck should measure about 14” when stretched.
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For size L: follow graph. The right side facing place a marker after the first 16
stitches of the row (work as beginning) and before the last 19 stitches of the row (work
as end). The stitches in between the markers are repeats.

Work row 9-16 (graph starts here) one time and then row 1- 14.

Now shape armhole. For lace pattern changes follow the graph.

Bind off 4 sts at the beg of next two rows (row 15 and 16)

Then bind off 3 sts at the beg of next two rows (row 1 and 2)

Then bind off 2 sts at the beg of next two rows (row 3 and 4)

Then bind off 2 sts at the beg of next two rows (row 5 and 6)

Then bind off 1 st at the beg of next two rows (row 7 and 8)

Then bind off 1 st at the beg of next two rows (row 9 and 10) = 59 sts
Continue with row 11 — 16.

Then repeat row 1-16 two times.

Shoulder shaping: Continuing with row 1-16 from last repeat bind off
12 stitches at the beg of next two rows (= row 1 and 2)= 35 stitches. Then
knit the first two stitches together at the beg of next two rows ( = row 3
and 4)= 33 sts. Change to needle size US 10 and work row 5-16.
Then in the following right side row bind off purlwise VERY loosely.
The top of the neck should measure about 14” when stretched.
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For size XL: follow graph. The right side facing place a marker after the first 26
stitches of the row (work as beginning) and before the last 19 stitches of the row (work
as end). The stitches in between the markers are repeats.

Work row 9-16 (graph starts here) one time and then row 1- 14
Now shape armhole. For lace pattern changes follow the graph.
Bind off 4 sts at the beg of next two rows (row 15 and 16)

Bind off 3 sts at the beg of next two rows (row 1 and 2)

Then bind off 3 sts at the beg of next two rows (row 3 and 4)
Then bind off 2 sts at the beg of next two rows (row 5 and 6)
Then bind off 2 sts at the beg of next two rows (row 7 and 8)
Then bind off 1 st at the beg of next two rows (row 9 and 10) =
Continue with row 11 — 16.

Then repeat row 1-16 two times.

Shoulder shaping: Continuing with row 1-16 from last repeat bind off 15
stitches at the beg of next two rows (= row 1 and 2) = 35 stitches. Then
knit the first two stitches together at the beg of next two rows (= row 3
and 4)= 33 sts. Change to needle size US 10 and work row 5 -16. Then in
the following right side row bind off purlwise VERY loosely.

The top of the neck should measure about 14” when stretched

65 sts.
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SLEEVE:

The sleeve measures from shoulder to wrist 25” for all sizes. If you follow that pattern
without changes 25” will be the length of your finished sleeve. You can increase the
length by adding rows or decrease length by taking out rows.

Desired length:

27 %4”: You can adjust pattern by repeating row 33-48 = 2 34" longer = total sleeve length
=27 %

22 /+”: You can adjust pattern by taking out row 33-48 = 2 34" shorter = total sleeve
length = 22 V4~

23 '2": You can adjust pattern by starting the sleeve pattern in row 9 instead of row 1 =
1 %2” shorter = total sleeve length = 23 12"

26 2”: You can adjust pattern by starting the sleeve pattern in row 9-16 and then go
back to row 1 and finish the sleeve according to pattern.

With needle size US 10.5 cast on 45(45/55/55) sts. Knit one row. Before you knit the
next row place markers: Place a marker after the first 6 stitches (=beginning) and before
the last 9 stitches (=end). The stitches in between the markers are repeats.

Now follow the graph for changes in the lace pattern and needle sizes starting with
Row 1. also continue with needle size US 10.5

Change to needle size US 10 in row 25

Change to needle size US 8 in row 65

Decreases are made in row 17 and 33 by knitting the first 2 sts of the row and last 2 sts
of the row together.

Increases are made in row 65/69/73/77/81 by loop casting on one stitch on both ends.
This means you will do one at the beginning and one at the end of the row. After all
increases are made you will have 51(51/61/61) sts.

Continue to knit without any shaping until row

for size S: row 110

for size M: row 106

for size L: row 102

for size XL: row 98

For arm cap shaping continue with according size:
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Small: Bind off 3 sts at the beginning of row 111/112
Bind off 1 st at the beginning of row 115/116/119/120/123/124/127/128/131/132

Bind off 2 sts at the beginning of row 135/136/137/138
Bind off 5 sts at the beginning of row 139/140.
Bind off remaining 17 sts in the next row.

Medium:

Bind off 3 sts at the beginning of row 107/108.

Bind off 1 st at beginning of row
111/112/115/116/119/120/123/124/127/128/131/132/135/136
Bind off 4 stitches at beginning of row 137/138

Bind off 3 stitches at beginning of row 139/140.

Bind off all remaining 17 stitches in next row knitwise.
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Large:

Bind off 4 sts at the beginning of row 103/104

Bind off 1 st at the beginning of row
105/106/109/110/113/114/117/118/121/122/125/126/129/130
Bind off 2 sts at the beginning of row 133/134

Bind off 3 sts at the beginning of row 135/136/137/138/139/140
Bind off remaining 17 sts in the next row knitwise.
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X-Large:

Bind off 4 sts at the beginning of row 99/100

Bind off 1 st at the beginning of row
101/102/105/106/109/110/113/114/117/118/121/122/125/126/129/130/133/134
Bind off 3 sts at the beginning of row 135/136/137/138/139/140

Bind off remaining 17 sts in the next row knitwise.
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Finishing: with a steam iron go over all pieces from the wrong side until they stay down
flat. Close shoulder seams. Set in sleeves. Close side and sleeve seams in one seam.
Weave in ends
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Change o heedls size 10
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